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- &It B M= 200,000& »12& 2,400
EEAR= s s R = 700,000& »23] 1,400
—gst2el Xt 3l 100,000& 13 100
—-8tgl E1x 150, 000& *4 3] 600
O AM&ZEHIs Xl 42,629
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2 i': FES Jl=HY

SAH-EB. S (3H) - HEAY - BE2 il HZS2
-Ad= R Xl 8,271
ARs 4,080& x1,465m 5,978
g 2,303& *x413m’ 952
Ayl 2, 1493 %324 m 697
22| Ab 1,740& *370m* 644
-sJIAHSXH (2418 ) 800,000 «5CH 4,000
-2UoRA & 2,205,800& =100H 22,058
- &30 X4 440,000 *10CH 4,400
-+ES2H2E R XY 300,000 =1CH 300
-2oFHIEd9= 300,000& x12& 3,600
O XtgEd gy 3,640
- Xt &= Xl 2,140,000& = 1CH 2,140
- XSl = XYl 1,500,000& = 1CH 1,500
03 S ALS L ] 1,800 1,800 0
O X533 29 1,800,000& 1,800
301 YU B A 700 700 0
09 HAIAH EA=S 700 700 0
O XZ&=s33 #48L 24 S
7,000& x50 x23] 700
TESHAYDZI MM 150,614 141,784 8,830
101 @121l 92,614 83,784 8,830
04 JI2ZtH 22 XNEE =+ 92,614 83,784 8,830
O Z&EREMHIAIE 51,880 x2H 203 21,064
O sIHAHSEA 56,7403 1 203 11,519
O 242 H Lot A2 51,880 x2H 148 15,357
O ANEEZHEIF 51,8803 *5H 138 35,798
O ga3gedg= 8,876,000 8,876
207 AT OH ] 58,000 58,000 0
03 A& o 2| 58,000 58,000 0
O AlEgZE2e 833& *26,410m 22,000
O Z&dHA MES SAE
9,000,000& %204 4~ 18,000
O ZTAEHIIME 50,000& *120& *33| 18,000
TAEH T ES 64,000 115,500 A51,500
401 Al HI YL 2 0HHI 52,000 100,000 AN 48,000
01 A& HI 52,000 100,000 AN 48,000
O &AL IESTULH AlELEL L 2
AlE SUE 52,000
405 X+H&HF SHI 12,000 15,500 A 3,500
01 A&t = EF SHI 12,000 15,500 A 3,500
O EZ& AE§HFR =8 & g2 12,000
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SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
-2y S622)) 12,000
NESsHHARIBDEF(ZEEHZ RH) 100,000 100,000 0
Xl 50,000
& 50,000
401 Al HI L £ 0HHI 100,000 100,000 0
Xl 50,000
& 50,000
01 A& Hl 100,000 100,000 0
O ZSHEssdE AANERS
100,000, 000& 100,000
Xl 50,000
& 50,000
ECRSEMAI I 56,379 52,894 3,485
101 @121l 22,379 18,894 3,485
04 JI2ZtH22XNHEE =+ 22,379 18,894 3,485
O AEZHEUL 51,880 *3% 130 20,234
O gy3=sdga 2,145,000 2,145
207 A IR & H| 34,000 34,000 0
03 A& FH| 34,000 34,000 0
O algrzae 2,400& *10,000& 24,000
O ZSAEATMHE 50,000& *1005 *23| 10,000
Jl2del(E=H ) 15,240 15,240 0
201 LEt2 A Y| 3,920 3,920 0
01 At 22l Yl 3,920 3,920 0
O JIE+=3Hl| 1,520,000& 1,520
O JI=23&tl 2,400,000 2,400
202 04| 8,000 8,000 0
01 2LHOHI 8,000 8,000 0
O 2ol 8,000,000 8,000
203 ¥R =&H| 3,320 3,320 0
02 d RO R =AY 320 320 0
O 3N RE=AH| 40,000 x8H 320
04 ENESI IR =AY 3,000 3,000 0
O BASIGLRF=XH| 250,000& x12& 3,000
=Y &3 Ad32 496,425 406,975 89,450
Xl 160,000
T 336,425
I[E=geRe: 84,839 81,888 2,951
201 L2 H| 84,139 81,888 2,251
01 AR 22| bl 8,700 9,000 A 300
Ogt=2H| 4,600
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Xl 221l (

-SJIH |XH ¥ SFHI

- A2l |FXL2+H|

200,000& = 10CH

~Xste +Z2H SAH 1,
— BRI S
~NERA L ANAE R
— AL ST 22
-24FE +E 1,
—oia Y FHAAL RXL
240 |1 eyl 2,
XA KX eyl 1,
-HMFH(NREREHS) |
-EA BABAY 1,
~HOI2 Hel = 1

-AgsE 3,
]

03 #A2EHI

250,000& =128

200,000& *15&

400,000& »12&

3,100,000
1,500,000

100,000& »7&

2,000,000

700,000& =204

30,488,000

50,000& *12
000& *2CH*13
00 1CH* 128

50,000& *22]

8,800 x12&
40,0003 x12&
20,000& =122

120,000& »2&
50,000& *2&

1,304m")
5,320,000

5,000,000

200,000& = 1CH
400,000& * 12l

]
200,000%10=

500, 000 »3CH
000,000& * 1=l

315,000 = 1CH
500,000 = 1CH
Xl

200,000& * 12l
00,000& *122]

840,000 = 1CH

3,100
1,500
700
700
3,400
2,000

1,400

72,939
36,664
30,488

3,000
50
1,200
660
100
106
480
240
340
240
100

32,435

5,320
5,000
3,000
1,200

400

2,000
1,500
1,000
4,800
2,315
1,500

2,000
1,200
1,200
3,840
3,840
2,500

_29_

=

i
2




AR g

M sYIlsHe

Sl DhsYEa o CEEEED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O#AM2EHI 2,500
- E=50sg4ds dEZX
2,500,000& x13] 2,500
301 L2 A F 700 0 700
09 HALAHIEA S 700 0 700
OAMAHIEES 700
- ES=0tsgds dEXNIHEFANSA
7,000& *100H 700
Ols S84 2 MIl= g 43,810 42,912 898
101 @124l 12,910 12,012 898
412 HZ22NSES 12,910 12,012 898
OEEI 2#UHES 51,8803 x 1 225 11,673
OYHERES 1,237,000 1,237
207 A RO H| 30,900 30,900 0
03 A& &2l 30,900 30,900 0
Olt=SE=SELHEHAIE 110,000& *120a 13,200
Oll=sZ&sds423 500,000& x10& 5,000
osgs &S 465,000& *20a 9,300
OALSHSSETEMZII=AE 200,000& x17a 3,400
Ol=SZ2 &4 2 MaH 2 31,293 29,544 1,749
101 124 dl 25,293 23,544 1,749
04 JIZHHZ2XREES 25,293 23,544 1,749
OAMEZZEQRL 51,8803 x2Y x220 22,828
HERE S 2,465,000 2,465
207 Ao 2| 6,000 6,000 0
03 Al & 11H| 6,000 6,000 0
O2445t2A42Y 100,000& *30a 3,000
OXZXEH2a AL 150,000 «10E 23] 3,000
Ols&&d M & JIZEs e 35,803 23,451 12,352
101 @124l 25,803 13,451 12,352
M4 IR Z22NSES 25,803 13,451 12,352
OsJ1H 28 56,7403 x121+210 11,916
Olts ZES3THHHAIE Z &2
51,8803 *101%220 11,414
OYHERES 2,473,000 2,473
207 A RO H| 10,000 10,000 0
03 A& &2l 10,000 10,000 0
OstdolE4 AR =HI 100, 000& x20& *53| 10,000
Ots ==t 22 ¥ 2IItX S 17,370 16,370 1,000
101 @124l 14,370 13,370 1,000
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M sYII=HE

&S DtsESs A7 (cho &)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
04 DIt Z2RESES 14,370 13,370 1,000
OANEZZE 2 51,8803 x5 50! 12,970
HERESZ 1,400,000 1,400
207 A& H| 3,000 3,000 0
03 Al & 11HI 3,000 3,000 0
Obtsllsd 2224 150,000& x10E »23| 3,000
ANesHdARI|EE DEF(0t=AR, 2E) 160,000 100,000 60,000
Xl 80,000
< 80,000
405 RHoHE S HI 160,000 0 160,000
Xl 80,000
< 80,000
01 AL EFFHSHI 160,000 0 160,000
OMESEESDI 11,000, 000& 11,000
Xl 5,500
< 5,500
O=ZZ& A 23,000,000& 23,000
Xl 11,500
< 11,500
OdXsdIIEGsE2Ad EX 48,000,000 48,000
Xl 24,000
< 24,000
O=sgEEEH 50,000,000 = 1CH 50,000
Xl 25,000
< 25,000
Obtsd gl 9,000,000 =1CH 9,000
Xl 4,500
< 4,500
OOts&ml ol 6,000,000 = 1CH 6,000
Xl 3,000
< 3,000
OZEHHI0NE 7,000,000 = 1CH 7,000
Xl 3,500
< 3,500
Oxz&+=H=EX 6,000,000& » 14 6,000
Xl 3,000
< 3,000
NSsxSIsHL (0hsH T, HE) 80,000 50,000 30,000
Xl 80,000
101 @124 Hl 30,000 21,662 8,338
Xl 30,000
04 JIZtHZ2XREES 30,000 21,662 8,338
OstXgitsHoleiAagM & 2832729
1,880+2H 175 18,158
Xl 18,158
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I =R
JI%JHU*

SN HH-S(BN) - MBAY - B il HlnE2
OstXI&itsHtolel ATl Z 2=
51,880x1H x175¢ 9,079
Xl 9,079
OYHBIRES 2,763,000& 2,763
Xl 2,763
201 Let2d] 2,500 1,788 712
Xl 2,500
01 At 22l 2,500 1,788 712
OgBt==&H| 2,500
-7 2X ARE(ZYAR2Y)
2,000,000& 2,000
Xl 2,000
—-st=03 &Iyl 150, 000& *20H 2~ *13] 300
Xl 300
—-&3 §ig 200,000& *13| 200
Xl 200
202 o4l 24,600 15,000 9,600
Xl 24,600
12O 24,600 10,000 14,600
OetX&itsHtoleiagd & 23F=272YH
12,300, 000& 12,300
Xl 12,300
OstXgitsHolei ATl 201
12,300, 000& 12,300
Xl 12,300
207 A RO 22,900 11,550 11,350
Xl 22,900
03 Al & 1HI 22,900 11,550 11,350
OStXIE0tsH0lei A2 & A A =Z22Y
12,900, 000& 12,900
Xl 12,900
OetXS0tsHtolef AT ZE 2 =Y
10,000, 000& 10,000
Xl 10,000
Ot RIS (RHA) 5,500 25,000 A 19,500
405 TtHabF S| 5,500 0 5,500
01 XML =S ZH SHI 5,500 0 5,500
O39a dTuE Y 5,500
Jl2Zdl(0tse+) 37,810 37,810 0
201 £B-2dH| 27,530 27,530 0
01 At 22/l 27,530 27,530 0
Oget==EH| 1,330
-JI2=&tl 1,330,000 1,330
O= &l 2,100
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D=8 &3 A2+

SA BB O () - NRAY - HES 0l &+ o4 il
-JlE2=gtl 2,100,000 2,100
o=zg=¢ 24,100
- 2= 50,0003 x 1 117 5,850
-=X 50,0003 x 1 +3652 18,250
202 odl 7,000 7,000
01 = LH YI 7,000 7,000
OJI2n bl 7,000,000 7,000
203 R =&l 3,280 3,280
02 A& H R =X 280 280
OZ A A& & 40,0003 »7H 280
04 BENSSIHRF=LHI 3,000 3,000
Oobtsd 72 250,000& »12& 3,000
U YESFI =Y 672,511 472,889
Xl 230,000
< 442,511
=22 H 78,242 71,550
201 B2l 76,639 71,550
01 At 2t 2|l 9,470 6,720
Oget==EH| 6,450
R R =u] 3,600,000& 3,600
- d=2st=X 72 Yl 100,000& 103 1,000
-S0HXSER 1,850, 000& 1,850
o1l =l 800
- HYs 100, 0002 »8H 800
ogxtz 2,220
- uoins Mz MAQTE
660, 0003 *2CH 1,320
—MAS0H2 X 150, 000& *63l 900
02 =224l 62,069 63,733
O3323ZLAA 31,273
- AYFYE I =2 500,000 *23| 1,000
- SAHAZSIAN =2 500, 000& *23| 1,000
-NIlg 24,000,000 24,000
- Xt= XAl 40,0003 *23| 80
—&ojetE el =2 170,000& =128 2,040
=P Ful == 110,000& »23| 220
— A orEE 3| 26,0003 13| 26
-N3R3 90,000& x12& 1,080
-ANsXHEE=z 420,000 x1CH * 13 420
- REYSAERZ 13,2002 128 159
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SR =IO (cho &)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
-0l (AEAZ)
55,000& *1CHx12& 660
-RER2 20,000& =12& 240
- A ERUY 29,000& x12& 348
OAlI& & Hl K XYl 11,900
—HIIZ2X2IUE=Z 250,000 xBE 23| 4,000
-8 XHEAE 600,000& *13] 600
-SY3F ALY RN E | 600,000& *13] 600
- AsZEo| 22l 150,000& = 12& 1,800
—HAMEH(ANLEZEHLANEEH S )XY
200,000& =12CH 2,400
A= DA RSEN ] 1,000,000& = 1CH 1,000
- M A8H R X244l 1,500,000& 13| 1,500
Od=H| 8,936
- AMNHEREY 1, 1173804 =100 8,936
O Xt &k Bt 3,840,000& = 1CH 3,840
OAFE RANESZ 6,120
-EHAH (" s 28X ,2080!|0})
1,169.44m x4 5623 x15 5,335
- (E2=232E,2080/56}H)
144m «1,817& x3= 785
03 At L ] 5,100 1,097 4,003
OEEsIIHMNZUNE L SE=sIEEENR
1,100,000& 1,100
Oxegaty 2™ AEZXS A
4,000,000& *13] 4,000
301 et A= 1,603 0 1,603
09 HALAHIEA S 1,603 0 1,603
OESsIHEZUNERLNESIHEEUNS
7,000 x43Y 33| 903
Oxeaty &¢™ AEZXS IHE
7,000& x100H *13] 700
TS UMMYEA AR 68,363 64,186 4,177
101 2124 d| 53,363 49, 186 4,177
04 J|IZtH2ZXNEE S 53,363 49, 186 4,177
ONMUEs2a 2202 51,880& 2™ 290 30,091
OsIIHSHJALAAI22| 56,7403 2H *160L 18,157
ogaggza 5,115,000& 5,115
201 Bt A | 5,000 5,000 0
02 352494l 5,000 5,000 0
OAl& & Hl s XYl 5,000
— oI AAAE KX HI 1,000,000& x5 5,000
207 Ao Y| 10,000 10,000 0
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P sgllsd
sgllEnYy
DS IIsNe

- _ _ RE]
SA - EH B (FH) - NBAY - BAS %Eﬁ HR=2
03 A& ™3| 10,000 10,000 0
O Al f 100,000& *30& 3,000
O=XH 250,000 *12E*13) 3,000
OsXHMY =<t 100,000 x40= 13| 4,000
St UEA A AR 32,241 30,625 1,616
101 2121 ] 16,641 15,025 1,616
04 JI2ZtHIZ22NEE S 16,641 15,025 1,616
O+%ABLESD ool
51,880& 18 290 15,046
OgERE= 1,595,000 1,595
201 et d| 5,600 5,600 0
02 222%4| 5,600 5,600 0
OA& Z&H KXY 5,600
- s I HKFH 200,000& x8= 1,600
-S| H=H&H| 500,000 «8CH 4,000
207 SO0 | 10,000 10,000 0
03 A& 3 H| 10,000 10,000 0
O Al ef 100,000& *30= 3,000
O=XH 250,000 125 *13] 3,000
O=sAHY =t 100, 000& »20& *23] 4,000
SHTHEH S H O &8 L = KEXHOH & 37,952 35,723 2,229
101 Q124 H] 22,952 20,723 2,229
04 JI2ZtHIZ2 2 NEE S 22,952 20,723 2,229
O RotAa 2R 51,880 «23H 200! 20,752
HERHZ 2,200,000& 2,200
201 Bt 5,000 5,000 0
02 2224 H| 5,000 5,000 0
OA & &Hl XYl 5,000
—olRAANESKX 1,000,000 *x3= 3,000
- ANE&H SIS 500,000 =4 CH 2,000
207 I | 10,000 10,000 0
03 Al A 32| 10,000 10,000 0
O Al eF 100,000& *30& 3,000
O=XH 250,000& x 125 13| 3,000
OsXHMY =<t 100, 000& *20= *23| 4,000
SEQHEHMNLHI=HFR 48,997 45,918 3,079
101 Q121 d| 33,290 30,049 3,241
04 JIZtHIZ22XNSE S 33,290 30,049 3,241
OHFotA 220l 51,8802 2% 290 30,091

_35_




AR g
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SR =IO (cho &)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OYHBRES 3,199,000& 3,199
201 et 5,707 5,869 A 162
02 =224l 5,707 5,869 A 162
oozl 707
—AZIRIU(SER) 7223 %6004 *1CH 434
-H=JISFU(HLSR) 1,363 %2004 *1CH 273
OA&EHl Xl 5,000
- &gl JI= Xl 500,000& =4 H 2,000
—golgdHHARoHRA FXAE2Hl 3,000,000 3,000
207 A RO H| 10,000 10,000 0
03 Al & 11HI 10,000 10,000 0
OLXNMAEANEZE HE 100, 000& *40ax* 1% 4,000
O==EHAMAEMHE 100,000& *30& *23| 6,000
oMl Zoi e+ 37,952 35,723 2,229
101 1A bl 22,952 20,723 2,229
M4 II2HZ22NSES 22,952 20,723 2,229
O RstAe 2R 51,880& x2H x200! 20,752
OHEREZ3 2,200,000& 2,200
201 Let24d] 5,000 5,000 0
02 =224l 5,000 5,000 0
OAl& & Hl s Xl 5,000
—“ANEHASGRALZHAAY SRXE I
1,000, 000& 2= 2,000
- AEAUANEINI S E S
600,000& +5CH 3,000
207 A& H| 10,000 10,000 0
03 Al & 11HI 10,000 10,000 0
OAl& 100,000& 303 3,000
O=xXt 200,000& x10&+13] 2,000
OsA MY =<t 200,000& x25& *13] 5,000
TUSESFHYMAZHL 27,624 26,398 1,226
101 @124 Hl 12,624 11,398 1,226
04 D122 2XREE S 12,624 11,398 1,226
OgFdtSA 2L QR 51,880 » 1 »220 11,414
HERESZ 1,210,000& 1,210
201 LB-2d| 5,000 5,000 0
02 3322l 5,000 5,000 0
OA& &l Xl 5,000
~ TG RAUBHAIAY RX 22|
2,500,000& 2= 5,000
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
207 A& H| 10,000 10,000 0
03 Al & 11HI 10,000 10,000 0
OAl 100,000& 303 3,000
O=xXt 200,000& x10&+13] 2,000
OsA MY =<k 200,000& x25& *13] 5,000
ANASESESISHE (2LAR XH) 140,000 60,000 80,000
X 140,000
101 @124 dl 43,200 13,000 30,200
Xl 43,200
04 JIZHHZ2REE S 43,200 13,000 30,200
OOl =& THHHE A7 Al E =X
51,880& x 18 %230 11,933
Xl 11,933
O#8r A8 F2AE MU A8 =3 KU
B MADI=IHEH T AIFEEX
51,8803 +x3H 182 28,327
Xl 28,327
OCHERE3 2,940,000& 2,940
Xl 2,940
201 L2l 14,900 8,000 6,900
Xl 14,900
01 At 2t 2l 14,900 8,000 6,900
Oger==gH| 14,900
SOIUSSEEE ST ABALLS
]l 10,400, 000& 10,400
Xl 10,400
—ASABT AAB A4S s Xl
MADSIHY AT Lot A8 4,500
4,500,000&
Xl 4,500
202 O4dl 32,000 25,000 7,000
Xl 32,000
01 S LHAYI 32,000 25,000 7,000
Ol 32,000
-0l ==EZTHHH=E A5 15,000,000 15,000
Xl 15,000
—4u AED A MU FAE 2HR0
THEH 28 AD =00 & 17,000, 000& 17,000
Xl 17,000
207 Ao 49,900 14,000 35,900
Xl 49,900
03 Al & 11HI 49,900 14,000 35,900
OflU===EEMHHHg &7 =l
21,800,000& 21,800
Xl 21,800
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SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
OX% 280 728 B2 S8 =8 S0
Bl MADs=HEHAR WS 28,100,000& 28,100
Xl 28,100
NEsHHAR)| B D E S (£2HP XEH) 180,000 48,320 131,680
Xl 90,000
< 90,000
401 Al B2 20 HI 180,000 48,320 131,680
Xl 90,000
T 90,000
01 A& HI 180,000 48,320 131,680
O%=etd3 |CT HIY olA &X
45,000,000& 4= 180,000
Xl 90,000
T 90,000
Jl2dgl(x=eaH3) 21,140 21,040 100
201 LEt2 Y| 9,820 9,720 100
01 At 22l Yl 9,820 9,720 100
Odet+Z2H| 1,520
AR=t =] 1,520,000 1,520
o294 5,900
-5Y gxsy 50,0002 *1182 5,900
O=2 &l 2,400
-Jl23 &l 2,400,000 2,400
202 04| 8,000 8,000 0
01 2LHOHI 8,000 8,000 0
OJ120 bl 8,000,000 8,000
203 & R =&H| 3,320 3,320 0
02 3t R =AY 320 320 0
OZ&E A& & H| 40,000& x8H 320
04 ENSI IR =AY 3,000 3,000 0
Ox8dAIRL 250,000& «12& 3,000
=Y EIDI=Ne 729,427 707,462 21,965
Xl 260,000
= 469,427
=3 29 65,141 59,593 5,548
201 LEt2 Y| 64,301 58,753 5,548
01 AP 2t2l bl 5,900 5,900 0
Oget2H| 4,600
— 2Bt A 4FH| 3,600,000& 3,600
- &&= 2 Y 1,000,000 1,000
o=l 700
—HIAAZA S 100,000& x74H 700

_38_




AR g

M sYII=HE

ool HEYBAIIENY (298 R)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Ogdxte 600
~UEe T HEX A [ A
600,000 1 =1CH 600
02 332494l 57,401 51,853 5,548
OZ2Z22Y A 41,301
-&J= 33,000,000 33,000
oot e = E 400,000& *12& 4,800
- XS XA 65,000& *13] 65
-ANESXIHEE = 800,000& x1CH*13] 800
- & L=D| &2l 55,000& *2CH x12& 1,320
- AYOtAEE 3 Y| 48,000& *13] 48
A= U N == 15,000& x12& 180
—-QHY Sde= 22,000 x2x12& 528
-RERZ 20,000& x12& 240
-MYIIsSEFLI 20,000& x12& 240
-SIEMNEREE 2 40,000 x2& 80
OAlI& &Hl K X Hl| 12,600
—HIIZ2X2UHE=Z 500,000& *23| 1,000
-8 XHEAE 600,000& *13] 600
-3z A S 600,000& *x13] 600
- AsdE0| 22l 200,000& x12& 2,400
- HAMEH(MREZBEHS)SAX
100,000& =4 CH 400
—&EAN 3AES9H| 1,000,000& *13] 1,000
- A& IR X2+ 400, 0003 *504 2,000
-+ E2H2AE RN E 2| 300, 000& *2CH 600
-sJIAHSXH (2418 ) 600,000 «50H 3,000
-SHE2Y 72U 1,000,000 = 1CH 1,000
O XA ghy| 3,500,000& = 1CH 3,500
03 At L I 1,000 1,000 0
OYE=s) M2n=s 1,000,000& x13] 1,000
301 YU B A 840 840 0
09 HAIAH EA=S 840 840 0
O3 wus ¥ Hd&X A
7,000 x120H 840
HESSLOHXMAAT 168,073 164,200 3,873
101 @124l 77,023 70,650 6,373
04 JI2ZtH22XNHEE =+ 77,023 70,650 6,373
OEMHIAIEE X 51,8803 x1 %270 14,008
OZAEAZAE X 51,8803 *1H x150 7,782
OsJHasEA 56,7403 18 x 185 10,497
OAEZLEHOR 51,8803 *3H 240 37,354
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ogasg=2 7,382,000 7,382
201 LEt2AY| 4,050 4,050 0
02 332494l 4,050 4,050 0
OA & &Hl S XYl 4,050
-S| HKRFH 450,000& ~90H 4,050
207 A IR ] 87,000 89,500 A 2,500
03 A& & 2| 87,000 89,500 A 2,500
OANEZEZHZME 2,600& *25, 000 m’ 65,000
OUFUR SEXA 20,000& x2003 4,000
OFAIE A XL =X 200,000& #4555 *23| 18,000
ES TS BIP e 131,003 127,359 3,644
101 @121l 71,153 65,259 5,894
04 JI2ZtH 22 XNEE % 71,153 65,259 5,894
OTIBZMAMAEE X 51,8803 *1H %270 14,008
Oolgoz 28X 51,8803 * 1Y %220 11,414
OFQYsSAgEEX 51,880& *1H +x270 14,008
OAEZEOL 51,8803 x2H %240 24,903
ogiagga 6,820,000 6,820
207 742l 59,850 62,100 2,250
03 Al& o 2| 59,850 62,100 N2,250
OANEZEZZME 2,616.65& *15,000m" 39,250
OFEAIE A XL EXI 190, 7403 *54F %23 20,600
NH =PI DS (T, AE) 100,000 202,000 A 102,000
Xl 50,000
& 50,000
401 Al HI L £ 0HHI 100,000 202,000 A 102,000
Xl 50,000
& 50,000
01 A& HI 100,000 202,000 A 102,000
Ol RAXIE L FIALE &
100,000,000 100,000
Xl 50,000
& 50,000
=PRI X A 16,000 10,600 5,400
405 XH&HF S HI 16,000 10,600 5,400
01 AL =S EF SHI 16,000 10,600 5,400
Os&0 =D 16,000
NEESGH2SI) NS (H=HR,EH) 210,000 130,000 80,000
Xl 210,000
101 @121l 101,180 63, 180 38,000
Xl 101,180
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 62,920
03 Al & 32 Hl 62,920 35,920 27,000
Odi= ¢tEW ANENZE 27,000
—H2 EZJsHE ANEME
100, 0002 *30& *33| 9,000
Xl 9,000
-3 EZI=HE ANENE
100,000& *30& =33l 9,000
Xl 9,000
—ASMTXIZN EEIN=HE AENE
100,000& »30& *33l 9,000
Xl 9,000
OMUFE HIIME Il & IHSAE ML AE
M= 8,920
—MOFE ¥IIME Jl= g AENZ
111,500& 40& x 13l 4,460
Xl 4,460
-0 JI3A3 L AMEMZE
89,2003 255 *23| 4,460
Xl 4,460
ORIl M= 4HMA Jsg =8 27,000
—otae B 03 =X
100,000& »30E *33| 9,000
Xl 9,000
—H=gaol ASZLH JI=HE =8
100,000& »30Z *33l 9,000
Xl 9,000
—H=ois ASZLH JI=HE =8
100,000& *30Z *33| 9,000
Xl 9,000
HEAT LMo MRS 4,700 0 4,700
201 LB-2d| 4,000 0 4,000
01 At 22l 1,500 0 1,500
Oo2Z+¢ 1,500
—dEXY ZELTANE =Y 1,500,000 1,500
03 A2 Z Hl 2,500 0 2,500
O8ZXY #X, =%, 8245 AH
2,500,000 2,500
301 etE a3 700 0 700
09 SALAHIEA S 700 0 700
O&EAX =4 24 7,000& x100H 700
=23 2 Sy SZ3EsHA 20,800 0 20,800
207 A RO H| 20,800 0 20,800
03 Al & 12l 20,800 0 20,800
OANEZZ2EME 2,700& x4,000m’ 10,800
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SA - ZE-B(EN) - NRAY - B S il
OSFME M= 200,000& x50& *13] 10,000
Jl2ZH(FEHH) 13,710 13,710
201 L2l 3,430 3,430
01 At 22l 3,430 3,430
Oget=&H| 1,330
-Jle=&Htl 1,330,000 1,330
O=gtl 2,100
-Jles gl 2,100,000 2,100
202 O4dl 7,000 7,000
01 = LH 4 Hi 7,000 7,000
OJlaul 7,000,000 7,000
203 YR =&t 3,280 3,280
02 et =& 280 280
22 AP & A Y| 40,0003 »7H 280
04 EAN2IHR2F=EHI 3,000 3,000
Ol=ARA 250,000& »12& 3,000
etol BEIA AR 659,952 548,579
150,000
< 509,952
AoIAR2H 76,362 77,262
201 £B-2d| 75,542 75,262
01 At 22l 5,900 5,900
Oger==ZH| 4,600
- LEHH A= H| 3,600,000& 3,600
-dz8=sX 7 1,000, 000& 1,000
o1l =l 700
- HY=E 100, 000& »7H 700
ogxtz 600
-kl AR MEX HAS X X
600,000& +1CH 600
02 =24l 68,142 67,862
O=322<HA 52,442
-HdJlZz 40,701
gz 8,320& *224kwh* 128 22,365
6HEZE 94. 73 +20,000kwh*3& 5,682
= 67.73+15,000kwh*5& 5,078
HEE 94. 73 +20,000kwh*4 & 7,576
—&o|erE gte| = 350,000& =122 4,200
— 4ot 4,788
2z 14,920& 128 180
AEZ 1,280& *300E+12& 4,608
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-d4LI|&2= 55,000& *1CHx12& 660
- XS XA 65,000& *13] 65
-NsSiAEE = 800,000& *1CH*13] 800
- AYOLAEE S Y 48,000& *13] 48
- REYSAEE 40,000& = 12& 480
-REZ 20,000& x12& 240
-MDEsE2 | 20,000& x12& 240
-IJH2AHBS R MEESEE 220,000& 220
OA & &Hl S Xl 12,060
-HIOIZXH2IUHE =S 250,000 *4 E 23] 2,000
-sH3aAzLAE 600,000& *13] 600
- HAMEBH(ANREZEEHE) &
300,000 =7CH 2,100
—&EA HAZE9H| 300,000& 23] 600
-AsZ20/22 | 230,000& x12& 2,760
- AEIIIF X2 4| 400,000& =10CH 4,000
(@PNE=FaR=la:] 3,640,000 =1CH 3,640
03 M AtES L 1,500 1,500 0
O0lHe st d2u& 1,500,000& *x13] 1,500
301 dEtE A= 820 2,000 A 1,180
09 HALAHIEA=S 820 2,000 A 1,180
OAUAATRZ HARX AS FHA LA
10,0003 x40 x 13| 400
OoA0lH2l s BF2us &4 B4
7,000 *30H x23] 420
AOIZTE B4 L MA AR 180,808 174,655 6,153
101 @121l 71,708 65,555 6,153
04 JI2ZtH2Z2XNEE* 71,708 65,555 6,153
O MU AMEEX 51,8803 * 1Y %270 14,008
Os&ada 248X 51,8803 *1H %270 14,008
OsJIH2&EA 56,7403 *1H %210 11,916
OAEZLEHOR 51,880& 2™ 240! 24,903
OgyRE3 6,873,000 6,873
201 et A b 13,000 13,000 0
02 =294l 13,000 13,000 0
OAI& &H| KX Hl| 13,000
-sJIH R &I 500, 000& =6 CH 3,000
-HIotESt A B 10,000, 000& 10,000
207 A OH ] 96, 100 96, 100 0
03 A& o 2| 96,100 96, 100 0
OANEZE2Z MZ 3,000& x18,000 m* 54,000
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Helr 20 SENL o3P

- - - =]
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ot M= 3,200,000€ 35 9,600
O/AUAIEAT TWE 250,000 x65F *23| 32,500
sy AoIMA AR 129,072 122,952 6,120
101 21 A | 61,972 55,852 6,120
42 H2E2XNEES 61,972 55,852 6,120
OJsaEa ANEEX 51,8803 x 1270 14,008
O4d2248 MEEBEX 51,880 x 1Y 270 14,008
oAolHel SEE4 AMEEX
51,880 x 1Y 270 14,008
ool H& L ME AEEX
51,880 x 1Y 270 14,008
ogdaggza 5,940,000& 5,940
207 AR | 67,100 67,100 0
03 A& 7Yl 67,100 67,100 0
OJAQUAIEATR W= 250,000& 455 *23| 22,500
Od2E&a8 A & =X 2
400,000 x40E *23| 32,000
Oo2A0lHel SE2AHE MY 2 MHz72Y
150,000& 145 *63| 12,600
olARI Bt xS 60,000 0 60,000
401 AlEHI L S2CHYHI 60,000 0 60,000
01 Al& bl 60,000 0 60,000
O2AQUATAL HAIJAIE BESE SEtel &X
60,000,000 *14] 60,000
NesgoaRI|Igtnesi(etergd, =F) 100,000 40,000 60,000
Xl 50,000
== 50,000
405 KHaHS SHI 100,000 40,000 60,000
Xl 50,000
< 50,000
01 XL 2 Z F S| 100,000 40,000 60,000
Ost=8 NEZE AMAM ZHEH &5 100,000
—Microplate reader 15,000, 0002 = 1CH 15,000
Xl 7,500
== 7,500
-GC 77,000,000& = 1CH 77,000
Xl 38,500
< 38,500
—Sonicator 8,000,000 *1CH 8,000
Xl 4,000
== 4,000
NEES ARSI 2L (ANAR HNH) 100,000 120,000 220,000
Xl 100,000
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Helr 20 SENL o3P

SN HH-S(BN) - MBAY - B il HlnE2
101 14 Hl 35,660 35,165 495
Xl 35,660
04 JIZHHZ22XREE S 35,660 35,165 495
OSSN 28,015
—ANEELaF= A8 X ,000& 10,895
Xl 10,895
—EEolAlE A ,000& 6,225
X 6,225
- NS AMEYAAARE X ,000& 10,895
Xl 10,895
OtFEerold 3 5,188
-—HFAAARAE X ,000& 5,188
Xl 5,188
OHERES 2,457
42X LBt
000& 2,073
X 2,073
-z B ,000& 384
Xl 384
201 2et24d] 12,000 12,735 AT735
X 12,000
01 At 22/l 10,500 10,435 65
XSS AN 10,500
- NS4 Pt ,000& 3,000
X 3,000
—EZEolAE ,000& 3,000
Xl 3,000
- NS AME
,000& 4,500
Xl 4,500
03 A2 Z Hl 1,500 2,300 A 800
=R UAXSE ol 1,500
- NG ELx= BH= 000& 1,500
Xl 1,500
202 O4dl 25,000 34,800 A 9,800
Xl 25,000
01 = LHAYI 20,000 28,800 A 8,800
=R AUXESE ) 15,000
~XoSa=E onx 0008 4,000
Xl 4,000
—EEoIAIE A 000& 5,000
Xl 5,000
- NgEAMEE 000& 6,000
Xl 6,000
OtFEerold 3 5,000
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
—EAAARFX 5,000,000& 5,000
Xl 5,000
04 2 H 304l 5,000 6,000 21,000
T ASSEACIHY 5,000
—NGEMF HRFA 3,000,000& 3,000
Xl 3,000
- NgSAMEE A HARF=E 2,000,000 2,000
Xl 2,000
207 A&y 26,640 36,600 A 9,960
Xl 26,640
03 Al & 1 HI 26,640 36,600 A 9,960
Ox=RXSESE AL 17,212
- NS48 ANEHE 6,105,000 6,105
Xl 6,105
—EZEQAE AIEME 5,302,000& 5,302
X 5,302
- NgSAUS A AEMZ  5,805,000& 5,805
Xl 5,805
OlF2AAHAT AIEHE 9,428,000 9,428
Xl 9,428
301 LEtE A= 700 700 0
Xl 700
09 HALAHIE& S 700 700 0
OSSN 700
—ANGELa= BHF=E HOILE AL 24
700,000& 700
Xl 700
Jl2ddl (el 1) 13,710 13,710 0
201 2yt 2 Y| 3,430 3,430 0
01 At 22l 3,430 3,430 0
Ogt=&H| 1,330
-JIg=8tl 1,330,000& 1,330
O= &l 2,100
-JIE2=2 &l 2,100,000& 2,100
202 oddl 7,000 7,000 0
01 = LH o4 1l 7,000 7,000 0
OJlautl 7,000,000& 7,000
203 YR =2t 3,280 3,280 0
P EEP e 280 280 0
O A& F | 40,0003 »74H 280
04 EAN2I LRI 3,000 3,000 0
Ol A 250,000& 12 3,000
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H°? RIlsdgsIlse (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
RIN=LdESI=HE 1,019,473 0 1,019,473

X 250,000
S 769,473
7llsgH=2dg 206,733 0 206,733
101 124 4] 33,281 0 33,281
04 JIZHNZ22XNSES 33,281 0 33,281
O M2 EXQE 51,880 x2H 2902 30,091
O33R &E=s 3,190,000 3,190
201 2Bt | 118,952 0 118,952
01 At2 22l H 5,700 0 5,700
Oget+=gH| 3,300
-ged g3l 3,300,000& 3,300
Ou =l 700
-3 HEs 100,000& 7 700
ogxtz 1,700
Rl ANSARELY Rz
1,700,000& 1,700
02 s3=9Hl 113,252 0 113,252
Os32= & HA 83,532
-SH= 70,0003 »2CH x 12 1,680
-dol= 2 15,166
gz
(2,570 *469.4t+9,460% )~ 128 14,590
=0 EFE= 1603 300t 12 576
-dJIes 38,466,000 38,466
-tARs 20,000,000 20,000
-S$IRBHE=S 100
A& 100,000& 13! 100
R RS R Ry 1,000,000%12] 1,000
—gst2el X g 2l 100,000 19! 100
-0l TV AEE 66,000 x12E 792
-d=0l2elz 33,0003 «3CH 12 1,188
-RERSs 20,000 x12& 240
- MgIIsSE R 50,000%12& 600
—ASWINMHEE = 4,200,000 4,200
OAl £ &Hl s X 29,720
—dIAl et e 2 4,000,000 4,000
—delHolHeE 22 ES 2,000,000 2,000
-d=22el |Xdl 1,577& +3,500m 5,520
—& &I | 250,000%30CH 7,500
- w=EXHl |4l 2,000,000 2,000
- Z AU BlO2tel 100,000x12& 1,200
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SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- A Yot2e 249 200,000*12& 2,400
—EAM YgY9Ls 829 300,000*53] 1,500
- &Ab R01EH 89 300,000%12& 3,600
405 XHo&HF S HI 54,500 0 54,500
01 AL 2B F SHI 54,500 0 54,500
OAREE | =1 54,500
-Jtil et #+¢ 3,000,000& =1CH 3,000
- J|E &) 16,000, 000& = 1CH 16,000
- sgE2ext 18,000, 000& = 1CH 18,000
- e R 4,500,000& *2CH 9,000
-&28E L+ 3,000,000& *2CH 6,000
- & & 2,500,000& = 1CH 2,500
R =sgHFAMNY 261,554 0 261,554
101 @121l 66,564 0 66,564
04 JI2ZtH22XNEE 66,564 0 66,564
ORIIMHIOIIz EAEXxE 51,880% 1% 290 15,046
ORJINESLALZ SAHEXR 51,880% 1% %290 15,046
ORJIII=EEs 248X 51,880% 1% x290 15,046
SO 2tel EXZE oI
1,880%19 *290L! 15,046
ogaggza 6,380,000& 6,380
201 Bt A | 19,800 0 19,800
02 3524l 19,800 0 19,800
OAlI& &Hl K X Hl| 19,800
-HYEADD| =84 600,000& *43| 2,400
— =400 JrAH| 160,000& *4E x15& 9,600
-H=X2ls4S 1,800,000& *33] 5,400
-XN&EHIIEXH2EH 4,000& *200kg*33] 2,400
207 &1 2yl 175,190 0 175,190
03 AlE & 2| 175,190 0 175,190
OEXLEAN 4,000 *6005 «84 2 19,200
OAEMEA 2,500& *500& x84 2 10,000
OB 22| Al & =Xt 95,000& *B0S *53 38,000
OEd&e| Al & =X 85,000& *70& *33] 17,850
OXZES Al & =X 85,000& *70& 53] 29,750
ORJls 2UAAXe &4 9,000& *84 E+180& 12,960
OANMEZHE2E ME 3,000& x11,810m 35,430
SI)sgllsHe 100, 000& *40E 33| 12,000
N s P BDESH (RIS, ) 500,000 0 500, 000
Xl 250,000
& 250,000
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ANEHI &2 425,000 425,000
X 212,500
< 212,500
A& HI 413,908 413,908
ORI=sGHIRAL ANEHIEZH =4 413,908
— & A Z A I 17,128,000 17,128
Xl 8,564
< 8,564
— A&l 396,780,000 396,780
Xl 198,390
< 198,390
22l dl 8,032 8,032
OZeltl 8,032,000 8,032
X 4,016
< 4,016
A& ST 3,060 3,060
OAlZ Sl 3,060,000 3,060
Xl 1,530
< 1,530
AHEEE S H| 75,000 75,000
Xl 37,500
< 37,500
AR ESH S 75,000 75,000
ORJls ANgadz =& FHIEZ 75,000,000 75,000
X 37,500
S 37,500
#lls 8¥3XN& & 2L 36,476 36,476
101 @124 4] 11,476 11,476
04 JIZHHZ2Z2XNSE+ 11,476 11,476
ORJlsgis & d2us 2EEX
51,8803 x1&+200&! 10,376
OHERES 1,100,000 1,100
201 Let24El 15,000 15,000
01 At 22l 15,000 15,000
O e8| 4,500
-RIsgUs L d2uUs WM M
300,000& =102l 3,000
—RIlsYUHE L M2DE 2% 284
150,000& =102/ 1,500
oz2g+g 8,100
-RI=sgUE ¥ F2UF LAY
270,000& x30H 8,100
ogdxz 2,400
-RIsgiis & A2 dXNuE NN
600, 000& *43] 2,400
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
206 M= Hl 4,000 0 4,000
01 M= 4l 4,000 0 4,000
Rll=sgls & M2UK UdSHE
20,0003 x50 #4 3| 4,000
301 et d=s 6,000 0 6,000
09 EALAHIEA S 6,000 0 6,000
ORJIslis & Md2Us FIt 24
6,000,000 6,000
J2dH(RII=sgAHF) 14,710 0 14,710
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301 L2 AF 2,000 2,000 0
09 HALAHIEA S 2,000 2,000 0
OO0fd3 =2 J¥TWE 2,000,000 2,000
MII=2 S AL &4t 1,208,061 1,131,348 76,713
308 XX EHH SOl A 331,200 354,000 A 22,800
01 AXSGHBLELS 331,200 354,000 A 22,800
O=YlEtHl of 2 A=
1,800,000 30 %30/ 100 16,200
OsZs gols 222X
40,000% *18,000ha*30/100 216,000
OsgllA =32 WX
15,000,000 * 120 2~ *30/100 54,000
OXBASY S DIMS MAAY
25,000,000 6K 2~ x30/100 45,000
403 UM S X201 & 876,861 777,348 99,513
01 X EHHM A= LE L 876,861 777,348 99,513
OSMAIE =2 H ZJIMH D= 23
20,000,000 5 2~ x21/100 21,000
Ol ZER MHH Al
74,700,000 30 2 x21/100 47,061
OEE 8 H Midl= 22 AlY
30,000,000 *4J 2~ x21/100 25,200
OD70F E===ot X M&EI= AME
35,000,000 *4J 2~ x21/100 29,400
OZEAE IS MATHEY AlE™
30,000,000 301 2 x21/100 18,900
OZ2 =Ml J1H3 BEJ= AY
40,000,000 *30H 2~ *21/100 25,200
O<d0l 6XtatH 3 Al
50,000,000 20 2~ x21/100 21,000
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AN IR
3N sgEsEJ=XE

SeES T

S MII=ESMEX

SN P SA(EN) - MBAY - BES 04 &+ o

OM=2J1 N30 NSEa Alg

25,000,000% *5JH 2 x21/100 26,250
OICTEE ANEZ sF 22 AAE

30,000,000% *37H 2 %21/10 18,900
Olss & MeEst S AlY

30,000,000% *3IH 2 %21/10 18,900
O&s 1 ZSs =0 ST Al

30,000,000 *11JH 2 %21/10 69,300
OAHBISA ADE S3MA AlEY

15,000,000% *6H 2 x21/100 18,900
OAE=8 SRS DAS3E AlE

30,000,000% *20H 2 %21/10 12,600
O=Z 20 RYa=s IHA 23 A

25,000,000% *20H 2 %21/10 10,500
OFASIN &8Il 4SAY

10,000,000 x50 24 *21/10 10,500
OgzZ2Ms 2 MY

15,000,000 x50 2~ x21/100 15,750
O0l&II= e SX1DF CHEMA AlY

10,000,000% *10JH & %21/100 21,000
OLNSE 33l Muiol= Al

10,000,000% *10JH & %21/100 21,000
O+=£8 33dt s4

50,000,000% *1JH 2 %21/100 10,500
OXE& XHEIIE IO AlE

50,000,000 *2JH 2~ *x21/100 21,000
O WAl MAEIT |4 AY

50,000,000 *5JH 2 *x21/100 52,500
OJI&THoll CHEl b=~ OHE M AL AlH

40,000,000 *3JH 2~ *21/100 25,200
OJBHBIUS MAS H2 )Y sS4

30,000,000% *2JH 2 %21/10 12,600
Ot SEIMHE & Al

10,000,000 x50 2 *x21/100 10,500
OAtDE 2D10HX &4 AlY

20,000,000% *9IH & %21/10 37,800
Ot Rolls=S HolZ2Z AlH

2,000,000 *11JH 2 %30/100 6,600
OMESE ZAE MBZ 4 AY

50,000,000 *2JH 2~ *x21/100 21,000
ORA ARSE & FHUs AlY

20,000,000 x50 2 *21/100 21,000
OICT 22 A 0IUX Z2Z Al

20,000,000 *5JH 2 *x21/100 21,000
OJEF AISEF e M o AY

20,000,000 *4JH 2 %21/100 16,800
ONZE &3 UM JI=sE25 AE

20,000,000 *8JH 2 *21/100 33,600
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AN IR

ol sYsEIsNY

SeES T

EHel: MIIsEsSMSXA (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Oneld =42 A8 S4H U AE
20,000,000 5 2~ %21/100 21,000
OO0IAJI= Uil 2d=Mard a4 AlY
20,000,000 #4012 %21/10 16,800
O BHAZEIAAY 2E) =23 MY
20,000,000 *4J 2 %21/100 16,800
OTHOHOIE Clar AIEIHE AlY
20,000,000 *5J 2~ %21/100 21,000
O HHHZ= I MBS AlY
20,000,000 #3012 %21/10 12,600
ODNEZ ABNES AFMA AlY
30,000,000 30 2 %21/10 18,900
OJI=8st tHE Ch== HA Ml A"
50,000,000 20 2~ x21/100 21,000
OJlsd FHZCHX MEG AlY
20,000,000 #2012~ %21/100 8,400
Odt=2 ZHEME AL Al
20,000,000 #2012~ %21/100 8,400
OJlsd 4EHAN ML AlY
50,000,000 *1J1 2 %21/100 10,500
sEdaedst X3 3,723,488 2,489,619 1,233,869
= 682,000
Xl 2,360,500
< 680,988
e olg ABIIB Iz (sEXNE  A2E) 15,000 0 15,000
= 7,500
< 7,500
201 Let249H] 15,000 0 15,000
= 7,500
= 7,500
03 &AL S HI 15,000 0 15,000
i 0l8 MBS Jlzsns
50,000+300H 15,000
= 7,500
< 7,500
e 018 ABIHE Jlsns(sELNE XY) 9,000 0 9,000
= 9,000
308 XXX SO0IA 9,000 0 9,000
= 9,000
01 HIXNHHBHEELS 9,000 0 9,000
Ol RN 2EWNR 9,000, 000 9,000
= 9,000
sgoststMuIs2INd (sENE , XE) 7,000 0 7,000
= 7,000
308 XXM S0 A 7,000 0 7,000
= 7,000
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2N
X ZH -
L= B

el

AIl=&
As=0I=Nd
EdgEds 1

= _ — d =
HH - B (3H) - KA - BYS 0l &t o il Bl RE2
01 HIXNHHNBHNEES 7,000 7,000
OdeNCH(sEMLelH) 28 n=
7,000,000 7,000
= 7,000
AMOIHsHOl e-HIZLA ASEHEXNE (sENA X 45,000 45,000
2l)
= 45,000
308 XXIEHHSOIA 45,000 45,000
= 45,000
01 AXHHILEES 45,000 45,000
OAMOIHs&Ql e-HIZLIA ASEE XNZ
45,000,000 45,000
= 45,000
EXNEIIE ZH(s=2103 AY) 50,000 50,000
Xl 25,000
< 25,000
401 A& HIZ 201 8] 25,500 25,500
Xl 12,750
< 12,750
01 A& HI 23,000 23,000
Odgusrat NSAE E23A 23,000,000 23,000
Xl 11,500
< 11,500
03 Al 2 THHI 2,500 2,500
OMgustat NFAIE E23A 2,500,000 2,500
Xl 1,250
< 1,250
405 RHoHE S HI 24,500 24,500
Xl 12,250
< 12,250
01 AL EFSFHSHI 24,500 24,500
Odgustat Zdl 2 24,500,000 24,500
Xl 12,250
< 12,250
ZASHNEHOI B NA(sEXE,XH) 325,000 325,000
Xl 325,000
403 A X EHHS 20l A 325,000 325,000
Xl 325,000
01 X HHMA=ZLE L 325,000 325,000
OSXe e A TOIZY X 2
50,000, 000* 1321 2 50/ 100 325,000
Xl 325,000
EA2E 02 SH(sEME NRF) 175,000 175,000
Xl 175,000
403 XIS E X201 & 175,000 175,000




2N seI=E
M sP=sEI=XE
e s=dMEEEs NI (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 175,000
01 XM A2E X 175,000 0 175,000
OsEABFL0IERY
50,000,000+7H 4 50/ 100 175,000
Xl 175,000
SE 24 SN MY (=03, X&) 75,000 0 75,000
Xl 75,000
403 MHtXSHHS =0l & 75,000 0 75,000
X 75,000
01 X SHMA=2E X 75,000 0 75,000
SENZN SXNAE AlE
50,000,000*3H 4 50/ 100 75,000
Xl 75,000
sHLIIsANE(sENE XH) 407,500 0 407,500
= 407,500
308 A EHHSOIA 12,500 0 12,500
= 12,500
01 HIXNHHNBHNEELES 12,500 0 12,500
OXNIELIE 83E sAS JPJ—DI%‘:’:/\IU*
25,000,000%17H 2~ *50/10 12,500
= 12,500
403 MHXSHHSA=0l& 395,000 0 395,000
= 395,000
01 HIXESHMA2E X 395,000 0 395,000
OsZHME dH 'Oi2Z=d'T8AE
150,000,000* 17 £ %50/ 100 75,000
= 75,000
OBitsazd 2 AY
50,000,000 19 2 x50/ 100 25,000
= 25,000
OS8% 2 22F MZX EZsAN2EY 23A
== 50,000, 000%27H 2~ x50/ 100 50,000
= 50,000
OLNSE WA= MXEJl= B2
50,000,000*2H 4~ x50/ 100 50,000
= 50,000
OXNSETHd SHHE S22 HWERD =AY
100,000,000* 17 £ *50/100 50,000
= 50,000
ORs32 28 023 €4 =4
50,000,000 12 2 x50/ 100 25,000
= 25,000
ONAIZEs 2328 = g 2 820/ 8F
a3 20,000,000* 17 2 *50/100 10,000
= 10,000
OztH "g0lg Satatey s4dAY
100,000,000 120 2 %50/ 10 50,000
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FN: sz
M sgd=sEJI=XE
e s=dMEEEs NI (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 50,000
O=S42 HAIEN 25328 =4
70,000,000+ 19 2 50/ 100 35,000
= 35,000
O=sZ& MSHHIIA &)= AY
50,000,000 19 2 50/ 100 25,000
= 25,000
st ZYAHEA A48 XA (sEXE,2H) 46,000 76,000 230,000
= 23,000
< 23,000
201 L2l 20,200 49,000 A 28,800
= 10,100
< 10,100
01 At 22l 10,200 49,000 A 38,800
Oger==8H| 4,000
—AOlH s sHEY M, 2= A
1,000, 000& 1,000
= 500
< 500
-stdgsdagEs NAMI, EE22
3,000,000& 3,000
= 1,500
< 1,500
o=zg=¢ 2,800
—AOIHsge sPB3E HEWF LAsE
1,000, 000& 1,000
= 500
< 500
-SHZ LY AE3UT TAE
1,800,000 1,800
= 900
< 900
ogxtz 3,400
—AOlH s sHFY SXNAE A=
000,000& 2,000
= 1,000
< 1,000
-s)t3Y A8 NA §XHE ez
1,400,000& 1,400
= 700
< 700
03 A2 Z Hl 10,000 0 10,000
O #dA2IH| 10,000
- MOIH=ZQol 22t OHIHENE 29
10,000, 000 10,000
= 5,000
S 5,000
202 O4dl 14,000 14,200 A 200
= 7,000
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FN: sz
M sgd=sEJI=XE
e s=dMEEEs NI (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
< 7,000
01 = LH o4 1l 14,000 14,200 A 200
Ol 14,000
—AOIH s sHFY SFEAUESAY &
XX & 4,000,000& 4,000
= 2,000
< 2,000
-sJ3dg 8Z4ESXE EXANE
10,000, 000& 10,000
= 5,000
< 5,000
206 M= Hl 2,000 3,000 21,000
= 1,000
= 1,000
01 =8l 2,000 3,000 21,000
OAMOIHH =22 sHIIETAUESAIY M= HI
2,000,000& 2,000
= 1,000
< 1,000
301 L2 A Z 9,800 9,800 0
= 4,900
< 4,900
09 HALAHIEA S 9,800 9,800 0
OdAAEIEAZ 9,800
-2 §¥ASSNE uE 24
9,800,000& 9,800
= 4,900
< 4,900
a2y OEE XA MAFANE(sENE XEH) 175,000 165,000 20,000
= 175,000
403 XXM S X201 A 175,000 155,000 20,000
= 175,000
01 XXM A2E = 175,000 155,000 20,000
ONSY A& A2 AHAH
50,000,000 +7JH 2 50/ 100 175,000
= 175,000
NEsgSHSXN (==X, XH) 723,000 857,000 A 134,000
Xl 723,000
403 Mt S ES X201 & 723,000 857,000 A 134,000
Xl 723,000
01 XXM A=2E = 723,000 857,000 A 134,000
OXY9=sg E43 At Y 723,000,000& 723,000
Xl 723,000
sIHE JIEME gl NE(sENE ,AE) 130,000 0 130,000
Xl 65,000
< 65,000
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- _ _ RE]
N HE - B9 (3H) - HEAY - BA=S %@i 2t
101 @124 H] 10,000 10,000
Xl 5,000
& 5,000
04 JI2ZtHIZ2 2 NEE S 10,000 10,000
OsJHE JI243 0HAHE Jl=Xd 2908
10,000,000& 10,000
Xl 5,000
& 5,000
201 Bt 75,000 75,000
Xl 37,500
== 37,500
01 AP 22| H| 35,000 35,000
Ogbt4=24| 35,000
-SO" JIZ24E 0IHE MREE £ UM
H&E S 35,000,000 35,000
N 17,500
=} 17,500
03 Al HH| 40,000 40,000
OsJI"g JIZ2AE OHAHE &9 40,000, 000& 40,000
Xl 20,000
= 20,000
202 o4 Hl 10,000 10,000
Xl 5,000
= 5,000
01 2L HI 10,000 10,000
OsJHE JI24E 0HAHE Jl2Xgd g2FX
10,000,000& 10,000
Xl 5,000
o=t 5,000
206 M Hl 20,000 20,000
Xl 10,000
= 10,000
01 X2 H| 20,000 20,000
OsJH" JI24E 0HAE Jls=XE M=l
20,000,000 20,000
Xl 10,000
& 10,000
301 Bt A= 15,000 15,000
Xl 7,500
= 7,500
09 SHAIAHI EAZ 15,000 15,000
OsJHE JI24E 0HAHE Jl=Xd S8E4,
== 15,000,000& 15,000
Xl 7,500
& 7,500
HEARS HSESNH (== X)) 25,000 25,000
Xl 25,000
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2N seI=E
M sP=sEI=XE
chelr sEMBEG AW (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
308 X EHSOIA 25,000 0 25,000
X 25,000
01 HIXNHHBHEELS 25,000 0 25,000
OXSAZsAs2SNE
50,000,000 19 2 50/ 100 25,000
Xl 25,000
ste ZTEIMNB Iz (sE=NE KE) 850,000 0 850,000
Xl 850,000
403 MHXSHHSA=0l& 850,000 0 850,000
Xl 850,000
01 XM A=LE L 850,000 0 850,000
Osdt2 3 Jl=X3 850,000, 000 850,000
Xl 850,000
S0 AR FAI=RN (sEXE , NH) 75,000 0 75,000
Xl 75,000
403 MtXISHHSA=0l& 75,000 0 75,000
Xl 75,000
01 XM A2E X 75,000 0 75,000
Osdgel 272 2HI= AlY
50,000,000*3H 4 50/ 100 75,000
Xl 75,000
SEUNSsESLE(sENE NE) 22,500 0 22,500
X 22,500
403 UHXSHHSA=0l& 22,500 0 22,500
X 22,500
01 HXSHMA2E X 22,500 0 22,500
OsZ&Euss% |4 45,000,000*14 2 *50/100 22,500
Xl 22,500
sg0 A2 AU HAXNI(s=XE,AE) 20,000 20,000 0
= 8,000
= 12,000
307 21201 A 20,000 20,000 0
= 8,000
< 12,000
04 QIZFHALAIH B = 20,000 20,000 0
O=sgeol 323 AAUE 20,000,000& 20,000
= 8,000
< 12,000
SEHLENEXN 54 38,840 43,440 A 4,600
201 Let24d] 5,400 5,400 0
03 &AL S HI 5,400 5,400 0
OMEINL NEHAFA 5,400,000& 5,400
301 LEtE A= 7,440 7,440 0
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2A: sg8I=&
Y sds=)=Nd
ool sEM4EEE A (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
09 HAIAHI EAZ 7,440 7,440 0
OMEIAMSNE EA BA 12,4002 »600H 7,440
307 QI2t0| ™ 26,000 30,000 A4 ,000
04 CIZ2tSH AFALS B X 26,000 30,000 A4 000
OMEINHST StotsSUH3 26,000,000 x13] 26,000
sSEMEsEg MIIsEas(2dE) 83,498 88,279 N4 781
101 e1214| 13,652 12,433 1,219
04 J|12ZtHIZ22NEES 13,652 12,433 1,219
OME st AL 13,652
— ol Y| 51,880« 18 240 12,452
-HERHZ 1,200,000 1,200
201 LBt ]| 40,950 40,950 0
01 AP 22| H| 32,200 32,200 0
Ogbt4=24| 25,000
—BtAAMSLZH (s ) 17,000,000 17,000
—SEMESSEEX MEH 10,000 *800 2 8,000
OYxz 7,200
- JIsg8dRg L AIHAGAI HALX
600,000& x123] 7,200
03 HAI2 G HI 8,750 8,750 0
OJIsg8dAHPE L AIBHAGEHAS
250,000& x35H 8,750
206 M = Hl 16,000 16,000 0
01 =4l 16,000 16,000 0
OJlsgd3g & X 9& HE
20,000 *800H 16,000
301 et A= 12,896 12,896 0]
09 HAIAHI EAZ 12,896 12,896 0
OIISE S U AHAL AT E AL A
48 ,000& »152H 7,296
OJlsgdHg U AIHAIY AR Z A
7,000& *800H 5,600
SEMESEs MI)I=sE2(XY) 379,650 358,800 20,850
308 AMXISHMSOIA 187,500 196, 800 A9,300
01 HXHHIMNEXS 187,500 196, 800 A9,300
OBXHASE AES OHAHE A&
20,000,000 2 A *21/10 8,400
OXYXe &2 23lHE =X 6XF AL 3}
30,000,000 2 A x30/10 18,000
OsELQ AIESE 25 T2 1A
10,000, 000 31 A x30/10 9,000
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2N seI=E
M sdsE)|aN
Sl SEMBHS XS CERED
2 S 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Os&0d F2M27=28 N
40,000% *5,800% *30/100 69,600
OsZ& U208 48NS
10,000,000 *9IH 2~ x30/10 27,000
OsZuss%d FA4NE 243X
15,000,000 *6IH 2~ *30/100 27,000
O=sdESHE ZECIA i
10,000, 0002 *5JH 2~ x21/100 10,500
ONHSMIBDE TS5
20,000,000 *3JH 2~ *30/100 18,000
403 UHXSHHSA=0l& 192,150 162,000 30,150
01 HXSHMA=E X 192,150 162,000 30,150
Os&04d s s&HYEH XH
8,300, 000& »11JH 2 %30/10 27,390
OBBEsAERHE 2R
1,300, 000 *24JH 2 30/ 9,360
O=&cs Hegsd =4
30,000,000 *40H & %21/ 25,200
Osdid s2AL538 AlY
100,000,000 *3JH A %21/100 63,000
OOtZLIOIIBAE HMZEJl= AlE
100,000,000 *2J1 A %21/100 42,000
OsEAMdEHEs2IsEs
30,000,000 *4JH 2 %21/100 25,200
SEXNZE & 6P A 46,500 66,100 A 19,600
201 Let24d] 23,000 37,620 A 14,620
03 &AL Z I 23,000 37,620 A 14,620
OsEussZ wA2d 5,000,000 5,000
OHtlUE sEMEUESRID #AM 10,000, 000 10,000
O=Fsteg sasiHE 28 8,000,000 8,000
202 O4dl 15,000 15,000 0
01 = LH 4 bl 15,000 15,000 0
OsEld MBE XS 15,000, 000& 15,000
206 M= Hl 2,000 0 2,000
01 MHZ 8l 2,000 0 2,000
O=sled sA3IE 28 ME 2,000,000 2,000
301 L2 A=z 6,500 4,480 2,020
09 EAAHIE &S 6,500 4,480 2,020
O=Fsleg sas 23 B4z 1,500,000 1,500
OsZEunss¥uAdd 3,000,000 3,000
Odtllts sEMEUERD HA 2,000,000 2,000
HE2H I (sEII=¥) 10,008,845 8,974,619 1,034,226
= 15,066
< 9,993,779
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A s8Il
HH: HH2IAH(50I&d)
chel: ol gyl CEEEED
SA B ER(EN) - AR - BES of & o4 San HIDZ2
el 2| 9,650,570 8,685,509 965,061
= 5,066
S 9,635,504
=gl 9,612,906 8,651,429 961,477
101 124 4] 9,313,806 8,361,269 952,537
01 2=+ 7,753,873 7,348,069 405,804
oJles 5,376,666
- LB (A SH) 346,625
4= 6,332,600 x2F x12& 151,983
- b5 5,406,700 x3H 128 194,642
- e (SEH) 916,892
=] 3,566,300 «7H «12& 299,570
= 3,192,100 x11H 128 421,358
-85 2,332,900 x7H ~12& 195,964
-—g2H 3,044,311
S 5,199,700 x17H 128 1,060,739
A 3,178,800 x52H x 12 1,983,572
- XNz 1,068,838
A&z 4,904,800 x6H 123 353,146
Kl &= A 3,139,000 x19H x12& 715,692
Oo=¢ 956,692
-d2=+g 386,265
-d2=god=s 123,840
25@ 0] & 73,320
20 01 & 110,000& ~16F ~12& 21,120
154901 & 80,0003 x8H x 12 7,680
10 01 & 60,000 x21H « 128 15,120
580l & 50,000 x11H 12 6,600
-HesFEA+E 81,749
RS 3,896,850 «4 . 1%x4H « 12 7,670
A A 3,644,000 4. 19%x29 x 12& 51,993
- NEeH 3,453,000& «4. 1%+ 13 122 22,086
-tE=+g 85,320
- B Xt 40,0003 x97H 128 46,560
A EHE 20,000 x146E «12& 35,040
D Ea= 30,0003 x5H 128 1,800
tets2 80,000+2E «12& 1,920
- MdstHEx 37,120
nsstu 464,000& 20 *4 2 37,120
-S0Rd=E 1,902,000 *40%=* 12 9,130
-fg22+g 40,080
=3 50,0003 x62H x 12 37,200
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2AM: sl
HM: M2 AH (sHII=sH)
chel: ol gyl CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 40,000 6 x 12 2,880
-G 61,320
AR A 80,000& x59H x12& 56,640
SEJ2 W 110,000 *3YG x12& 3,960
SIS 2o0gY 530/4
60,000& x1H +x12& 720
-Jlsdgx4 18,720
S N =y 60,000& x6H ~12& 4,320
A AL, X = AF 50,000& 15 x12& 9,000
52 50,000& x1H ~12& 600
=1 30,000& «12¥ x12& 4,320
8~92 20,000& x2H x 128 480
-J=dEB4LE(0H2) 9,000
- Jl= A 50,000& *1H x12& 600
- Jls &, JIA 30,0002 20 x12& 7,200
AR DA 20,000 *3H x12& 720
2& &HH| (6~732) 10,0003 x4H «12& 480
—SAHLTH(SMAIERIES)
38,000& x1H +x12& 456
- WRIOALSE 550,000 x3H x12& 19,800
-2 gRae 80,892
-HIZ2IALE 50,000& x5 «12& 3,000
Ozxh22< 565,334
OFHZ A 130,000& x127H 128 198,120
OY&E S| 5,046,447 ,0002 /128 »60%*23] 504,645
O9 e Atdl 152,416
-HEAH
346,622,000 /128 x78%*86%*1/30x 12 7,751
-SZ2MN
5,046,447 ,000 /122 «86%*1/30% 12 144,665
02 JIEt& 2% 111,648 101,006 10,642
OLBFADHI (& L H A ) 54,762
-Jl=22 3,675,000& x 1P x12& 44,100
-tEsY 960
bl < Xt 40,000 x1H +x12& 480
MNAHIES 20,000& 2 x12& 480
- X2 4,800,000 4,800
- dHZAH| 130,000 x 1H x12& 1,560
— I A
44,100,000 /128 x84%*86%/30L 12 1,062
- =R | 140,000& x1H ~12& 1,680
-UolE sy 50,000& x1H x12& 600
OLBFAIHI (A 2ESEL ) 56,886
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2N
X ZH -
L= B

el

'OLJ
dHl(sdJ1=)
bl

B SR (B) - KIRAY - BES il
-Jl2s 3,525,000 x1H x12& 42,300
=g 1,080

- U< Xt 40,0003 x 18 128 480
A ES 20,0003 x1H «128 240
&3 30,0003 x1H »12H 360

- Zu2eE 4,779
- Z U AH 130,000 x1H «12& 1,560
— It E A
42,300,000% /122 x84%*86%/30 x 12 1,019
-AgEXx| 155,000& 1H 128 1,860
-HERES 4,288,000 4,288
03 RIAHAZ 2B+ 1,448,285
O 2= 975,494
-Jles 53,5003 *260 27 H 375,570
LGS 375,570,000& /12& »400% 125,190
- &JI12=5+Y 53,500 *40%*6F « 128 27 H 41,602
—A2tel=g 10,0312 x15A1 2bx 123 27 H 48,751
G PNESS = 53,5003 x25 »27H 36,113
-=5=¢ 53,500 *105& x27H 151,673
- 5222 80,2503 x 13 +27H 28,168
- Y EFOHl 375,570,000& /12& »120% 37,557
-JtEd 40,0003 x 123 +274H 12,960
= JHAIXI & 8l 375,570,000 /12 »80% 25,038
- Sl 110,000 *12& 27X 35,640
- = gl 130,000& 128 »27H 42,120
— Il =l 100, 000& »2H 200
PNIE RSP, 466,000%43| «8H 14,912
OYHERES 472,791
-0z 439,550,000 439,550
- NE2E 14,665,000 14,665
- MHEE 18,576,000& 18,576
204 Q82 Y| 299,100
02 22 =4l 299,100
OggerA 84,720
25 (¥&) 650,000& x 1 128 7,800
-32(=%) 500,000& *3H 128 18,000
—-4= 400,000 x2H 128 9,600
-5 250,000 x3H 128 9,000
-6= 155,000 x7H 123 13,020
-7=2 140,000 11H 128 18,480
-8~92 105,000 x7H x12& 8,820
o9, XNEH 214,380




Y EET=BIET"
M HER2IAU(sYII=d)
chel: ol gyl CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
- e 400,000& x7H x128 33,600
- A2 250,000& x15H «12& 45,000
— ALK ANBEE O 4)
155,000& »73H 128 135,780
NEEssgI=d32s s (M) 37,664 34,080 3,584
= 15,066
= 22,598
101 1A bl 37,664 34,080 3,584
= 15,066
= 22,598
03 RIHAZ 22+ 37,664 34,080 3,584
@)=E= 34,803
-Ji22 53,500 260 13,910
= 5,564
< 8,346
—&03 13,910,000% /12& *400% 4,637
- 1,854
< 2,783
-dJ2s5+Y 53,5003 *40%*3H 123 771
= 308
< 463
—AN2HA=E 10,0312 x15A| 2t %123 1,806
2 720
< 1,084
PN ECR = 53,5003 25 1,338
= 535
< 803
- FEE 53,500& 105 5,618
= 2,047
< 3,371
-—Fg2exd 80,2503 13 1,044
2 417
= 627
- Y EFOH 13,910,000% /12& *120% 1,391
= 556
< 835
-JtE 40,000& =122 480
= 192
< 288
= JHAIXI & 8l 13,910,000% /12& *80% 928
= 372
= 556
-S| 110,000& 128 1,320
= 528
< 792
- = gl 130,000& =128 1,560
= 624
= 936
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SN sIad
M HER2IAU(sYII=d)
& o 2d| (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OYHBRES 2,861,000& 2,861
= 1,147
< 1,714
=34l 358,275 289,110 69, 165
JlE2&l 358,275 289,110 69, 165
201 L2l 117,115 96,630 20,485
01 At 22l 111,710 91,720 19,990
OJla=+=&Hl 24,510,000 24,510
ozg=4¢ 48,500
-=Z 50,0003 x2H x3652! 36,500
-3 50,0003 x2F 120 12,000
O= &l 38,700,000 38,700
02 =224l 5,405 4,910 495
Oz22= & HA 5,405
-RERZ3 5,405
= 2,020& *2,0000H 4,040
23 390& x3,5003 1,365
202 o4dl 129,000 88,000 41,000
01 = LH o4 1l 129,000 88,000 41,000
OJ12n bl 129,000,000 129,000
203 R F=&H| 49,760 49,880 A 120
01 ) 22H g F=AH 24,200 24,200 0
OJ%E 11,000, 000& 11,000
O=% 6,600,000 »2H 13,200
02 F3AItaERFXH| 3,360 3,480 A 120
O A& FH| 40,0003 +84H 3,360
04 EAN2IHR2FEHI 22,200 22,200 0
O E XI& Bt 250,000& 12 3,000
o= 250,000& 128 3,000
O AR 250,000& »12& 3,000
OFSE==Re R} 250,000& =128 3,000
OX& 2| & 1t 350,000& »12& 4,200
OJls2= 250,000 122 3,000
O=sEX& 1t 250,000& »12& 3,000
204 D282 Y| 62,400 54,600 7,800
01 HBZH R F 62,400 54,600 7,800
O2~33(I1&2&) 650,000& x1&H 128 7,800
O2~33(BZxJ1&) 600,000 x2H 123 14,400
O42(BEXI1&) 350,000 x7H 123 29,400
O5= (J1&&) 150,000& 6 122 10,800
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